Correction Pb 2

For a given solution at w, the null Lagrangian writes:
w211 = kQIg + I3 (1)
and its stationarity:
w6l = k*5I, + 613 (2)
For a perturbation dw, the new solution has a null Lagrangian:

(w + (5(41)2(]1 + (SIl) = (k + 5k)2(12 + 5[2) —+ 13 —+ (SIg

Keeping the terms of first order, we substract (1), then 2 and obtain:
2w 5(,4)]1 =2k (5k'[2
and finally
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This is a useful relation between C and U.

In the case of the homogeneous plate, the application is immediate knowing
the definition of the I integrals (no need to perform any algebra).



